Criterio generale di divisibilita

Eseguire le seguenti divisioni applicando il criterio generale di divisibilita:

1. 1.000:25=
2 1.125:75 =
3 1.210: 22 =
4 1.404:36 =
5 1.430: 65 =
6. 1.580:20=
7 1.728:48 =
8 1.840: 20 =
9 1.900:38 =
10. 2.016:144 =
11. 2.028:52 =
12. 2.197:169 =
13. 2.385:15=
14. 2.400:160 =
15. 2.540:20=
16. 2.772:154 =
17. 3.150:75=
18. 3.267:33 =
19. 3.486:42 =
20. 3.726:162 =
21. 3.773:77 =
22. 3.870:86 =
23. 4.025:25=

24, 4.218:111=
25. 4.235:121=
26. 4.485:115=
27. 4.608:48 =
28. 4.797:41=
29. 4.864:32=
30. 4.945:43 =
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